MaATH 3350 RAHMAN Lecture 7

3.3 HOMOGENEOUS LINEAR EQUATIONS WITH CONSTANT COEFFICIENTS
Complex Conjugate Roots: Again consider the ODE,
ay” + by’ +cy =0, (1)
which has the characteristic polynomial equation,
ar? +br+¢=0. (2)

Using the quadratic formula we get,

—b+Vb? —dac
re=—
2a
What if b2 — 4ac < 07 Then r is of the form r = £ 4 if where &,60 € R, but this means r is a complex conjugate. However, we
do the same thing as usual to get,

y= c1e™% 4 cpeT = cle(EJri@)x + 626(571'9)1 _ e§$ (Cleiex + 62671‘99:) )

We need to deal with the part inside the parentheses, and we do this by what’s called, Fuler’s Identity. And we can derive this
fairly easily by using Taylor series, since we know the taylor series,

e (_1)n+1t2n+1

eit:iM:iM—FiZi:COSt—’_is‘int (3)
= n! = (2n)! = (2n +1)! '

Then our solution becomes,
y = e%%[c1(cos O + isin Oz) + co(cos Oz — isinBz)] = e5%[(c1 + ¢2) cos Bz + i(cy — ¢o) sin fz].

However, we only want real solutions. Notice that cosfz and sin 6z, with the proper constant coefficients, are solutions to (1)
independently. So, by the theorem from the previous section, y = (A cosfz + Bsinfz) is also a solution. We have just
developed a theorem,

Theorem 1. If (2) has complex roots, i.e. =& + 10, then the general solution of (1) is,
y = €% (Acosfx + Bsinfz). (4)

Now, lets do some examples,

2

2—im/2 e?(cos /2 —isinm/2) = —ie?.

Ex: Applying Euler’s identity, e
Ex: 2e2™ = L(cos(2In7) +isin(2Inm)).
Ex: " +2y +2y=0.
Solution: We go to the characteristic polynomial, 7% 4+ 2r + 2 = 0 and use the quadratic formula, r = (=2 +
V4 —8)/2 = —1 £ 4, which gives us a general solution of y = e~ *(Acost + Bsint).

Ex: y’ +4y +5y=0;y(0) =1,y (0) =0.
Solution:  Again our characteristic polynomial gives, 72 + 4r + 5 = 0, and the quadratic formula gives, r =
(—4 4+ +/—4)/2 = —2 £ i, so our general solution is y = e~ 2!(Acost + Bsint). Now we go to our initial conditions:
y(0) = A = 1. Then, y/(t) = —2e~?*(cost + Bsint) + e 2!(—sint + Bcost), so 4'(0) = -2+ B =0 = B = 2. So, our
solution is y = e~2!(cost + 2sint).

Ex: ¢y +y=0;y(r/3) =2,¢(7/3) = -4
Solution: As per usual we have r?+1 =0 = r = 4i = y = Acost+ Bsint. From the first initial condition we have,
y(n/3) = AJ2+3B/2 =2 = A =4—/3B. From the second initial condition we have, y'(7/3) = —/3A4/2 + B/2 =
—4 = —\3+3B/2+B/2 =-2/3+2B = -4 = B = +3-2. So, we get A = 1+ 2v/3. Then our solution is
y = (1+2v3)cost+ (V3 —2)sint.



Repeated Roots: Again consider a second order homogeneous IVP with it’s respective characteristic polynomial equation,

y'+by +ey=0;y(0) =A,y(0)=B (5)
r?4+br+c=0 (6)
Then our roots (also called eigenvalues) are r = 1(—b+ Vb2 — 4c). What if b*> — 4c = 0 = ¢ = b?/4? Then r1, = —b/2. If we

plug this in as usual we get y = cre /2 4 coemb2/2 = (c1 + 02)6_”/2. However, this only gives us one constant so there is no
way we can satisfy the two initial conditions. So, we need another solution in addition to the one we have.
Suppose the “constant” ¢; + c2 is not a constant, but rather a function of z; i.e. y = v(a:)efb‘”/Q. We have to figure out if a v

will satisfy our ODE, and if so, what v is it. We want to plug into 5. The derivatives are

b b?
y/ — v/(x)e—bm/Q _ ie—bm/Qv(x) = y// — U//(x)e—bm/Q _ be—bm/2v/(x) + Ze—bx/QU@:).

bx/2 " l b? b? b? bx /2,1
e (U +(—b+b)v+(4—2—|—4>>=6 v' =0

Since exp(—bx/2) can’t be zero in finite z, v/ = 0 = v/ = ¢3 = v = 32 + ¢4, which gives us a solution of
—bx/2

Plugging into the ODE gives

y = (csz + cq)e
We still don’t know if this is a legitimate solution or not yet, but let’s write down the theorem anyway and then prove it.

Theorem 2. Consider the ODE

ay’ +by +c=0. (7)
If the characteristic polynomial has repeated roots; i.e. r12 = A, then the general solution to 7 is,

y = (c1 + cam)e. (8)
Proof. Clearly 8 is a solution to 7, which we verified by differentiating and plugging into the ODE. Furthermore, W (e, ze??) =
e2® =£ (0, which we calculated in class. |

Now, lets solve some problems before moving onto the second part of this section.

Ex: 9y" +6y +y=0.

Solution: The characteristic equation is 972 + 6r +1 = 0 = r = —1/3, then our solution is y = (c; + cox)e™ /3.

Ex: 16y” +24y' + 9y = 0.
Solution: As per usual, 1672 4247 +9 =0 =r = —3/4 = y = (c; + cow)e 3%/4.

Ex: 4y” +12y' +9y =0, y(0) =1, ¥/(0) = b.
Solution:  Solving the ODE gives us 412 +12r +9 = 0 = r = —3/2 = y = (c1 + cax)e™3%/2. The first initial
condition gives y(0) = ¢; = 1. The other one gives y'(0) = —3/2+ ¢z = b = ¢2 = b+ 3/2. So, when b < —3/2 it’s
eventually negative, but when b > —3/2 it’s always positive.

Ex: y” —6y +9y =0, y(0) =0, ¢y (0) = 2.
Solution: Again, we have to solve an IVP. Our roots are 72 —6r+9 = 0 = r = 3. So, our solution is y = (c; +c27)e
From the initial conditions we have, y(0) = ¢; = 0 and y’(0) = cp = 2, so our solution is y = 2xe3?.
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